
OK

NO

IMPORTANTE / BEWARE

AL FINE DI NON COMPROMETTERE IL FUNZIONAMENTO DEL MECCANISMO VERT-MOVE
E' NECESSARIO MONTARE L'ANTA SUL MOBILE PRIMA DI PROVARE IL MOVIMENTO

To avoid jeopardising the fuctioning of the vert-move mechanism
assemble the door to the furniture unit before testing the movement

IMPORTANTE / BEWARE

AL FINE DI NON COMPROMETTERE IL FUNZIONAMENTO DEL MECCANISMO VERT-MOVE
SI CONSIGLIA DI MANTENERE IL MOBILE IN POSIZIONE VERTICALE

To avoid jeopardising the fuctioning of the vert-move mechanism
keep the furniture unit in the upright position



L

44
0

A

A

B

B

C C

D D

10

40
0

10

40
0

FIANCO/ side panel Sx
SEZ. / sect. B-B

FIANCO/ side panel Dx
SEZ. / sect. A-A

606032 32

COPERCHIO / top
SEZ. / sect. C-C

FONDO / down
SEZ. / Sect. D-D

28

58

20
22

15
30161228

10

MIN. 100

22

8 12

3 10

12

28

58

20
22

15

30 16 12 28

10

MIN. 100

22

3 10

8 12

12

8,
5

18

10  
10

8,
5

10  
10

18

13

12

90
°

8

SCHEMA FORATURA PENSILE / Hole position in the hanging unit VERT-MOVE 440
PENSILE / HANGING UNIT



8,5

15
4,

5
14

7
14

7

42 8,542

N° 12 FORI / No. 12 holes 5,5 12

ANTA / DOOR

N.B. QUOTE IN RIFERIMENTO ALLA DIMENSIONE INTERNA DEL VANO
N.B. Dimensions refer to inside space of the hanging unit

SCHEMA FORATURA ANTA PENSILE / Hole position in the hanging unit
VERT-MOVE 440



L

46
0

A

A

B

B

C C

D D

SCHEMA FORATURA PENSILE / Hole position in the hanging unit VERT-MOVE 460 

10

42
0

10

42
0

FIANCO/ side panel Sx
SEZ. / sect. B-B

FIANCO/ side panel Dx
SEZ. / sect. A-A

606032 32

COPERCHIO / top
SEZ. / sect. C-C

FONDO / down
SEZ. / Sect. D-D

28

58

20
22

15
30161228

10

MIN. 100

22

8 12

3 10

12

28

58

20
22

15

30 16 12 28

10

MIN. 100

22

3 10

8 12

12

8,
5

18

10  
10

8,
5

10  
10

18

PENSILE / HANGING UNIT

13

12

90
°

8



ANTA / DOOR

8,5

15
4,

5
15

7
15

7

42 8,542

N° 12 FORI / No. 12 holes 5,5 12

N.B. QUOTE IN RIFERIMENTO ALLA DIMENSIONE INTERNA DEL VANO
N.B. Dimensions refer to inside space of the hanging unit

SCHEMA FORATURA ANTA PENSILE / Hole position in the hanging unit
VERT-MOVE 460 



L

A

A

B

B

C C

D D

10

10

FIANCO/ side panel Sx
SEZ. / sect. B-B

FIANCO/ side panel Dx
SEZ. / sect. A-A

606032 32

COPERCHIO / top
SEZ. / sect. C-C

FONDO / down
SEZ. / Sect. D-D

28

58

20
22

15
30161228

10

MIN. 100

22

8 12

3 10

12

28

58

20
22

15

30 16 12 28

10

MIN. 100

22

3 10

8 12

12

8,
5

18

10  
10

8,
5

10  
10

18

13

12

90
°

8

SCHEMA FORATURA PENSILE / Hole position in the hanging unit VERT-MOVE 560 
PENSILE / HANGING UNIT

52
0

52
056

0



8,5

15
4,

5
20

7
20

7

42 8,542

5,5 12N° 12 FORI / No. 12 holes 

ANTA / DOOR

N.B. QUOTE IN RIFERIMENTO ALLA DIMENSIONE INTERNA DEL VANO
N.B. Dimensions refer to inside space of the hanging unit

SCHEMA FORATURA ANTA PENSILE / Hole position in the hanging unit
VERT-MOVE 560



L

68
0

A

A

B

B

C C

D D

10

64
0

10

64
0

FIANCO/ side panel Sx
SEZ. / sect. B-B

FIANCO/ side panel Dx
SEZ. / sect. A-A

606032 32

COPERCHIO / top
SEZ. / sect. C-C

FONDO / down
SEZ. / Sect. D-D

28

58

20
22

15
30161228

10

MIN. 100

22

8 12

3 10

12

28

58

20
22

15

30 16 12 28

10

MIN. 100

22

3 10

8 12

12

8,
5

18

10  
10

8,
5

10  
10

18

13

12

90
°

8

SCHEMA FORATURA PENSILE / Hole position in the hanging unit VERT-MOVE 680
PENSILE / HANGING UNIT



8,5

15
4,

5
26

7
26

7

42 8,542

5,5 12N° 12 FORI / No. 12 holes 

ANTA / DOOR

N.B. QUOTE IN RIFERIMENTO ALLA DIMENSIONE INTERNA DEL VANO
N.B. Dimensions refer to inside space of the hanging unit

SCHEMA FORATURA ANTA PENSILE / Hole position in the hanging unit
VERT-MOVE 680



L

74
0

A

A

B

B

C C

D D

10

70
0

10

70
0

FIANCO/ side panel Sx
SEZ. / sect. B-B

FIANCO/ side panel Dx
SEZ. / sect. A-A

606032 32

COPERCHIO / top
SEZ. / sect. C-C

FONDO / down
SEZ. / Sect. D-D

28

58

20
22

15
30161228

10

MIN. 100

22

8 12

3 10

12

28

58

20
22

15

30 16 12 28

10

MIN. 100

22

3 10

8 12

12

8,
5

18

10  
10

8,
5

10  
10

18

13

12

90
°

8

SCHEMA FORATURA PENSILE / Hole position in the hanging unit VERT-MOVE 740 
PENSILE / HANGING UNIT



8,5

15
4,

5
29

7
29

7

42 8,542

N° 12 FORI 5,5 12

ANTA / DOOR

N.B. QUOTE IN RIFERIMENTO ALLA DIMENSIONE INTERNA DEL VANO
N.B. Dimensions refer to inside space of the hanging unit

SCHEMA FORATURA ANTA PENSILE / Hole position in the hanging unit
VERT-MOVE 740



6

5

7

1

3

4

2 CODICE / code: 304550000
CONF. FISSAGGIO GUIDE Dx-Sx VERT-MOVE
Lh - Rh VERT-MOVE guide fastening kit

5

6

1

ASSEMBLARE I PARTICOLARI                                      COME DETTAGLIO 1  - 5  - 6  - 4
Assemble the details                                       as shown in the figure1  - 5  - 6  - 4

4

2

1

ISTRUZIONI MONTAGGIO MECCANISMO VERT-MOVE
Assembly instructions VERT-MOVE mechanism 

N. Articolo
Item No.

Descrizione / Description Quantità
Amount

 
 

Bussola 10x10xM6 c/esagono / Bush 10x10xM6 with hexagon
Vite UNI ISO 7380 - M6 x 12 / UNI ISO 7380 screw - M6 x 12
Vite UNI 5933 M6 x12 / UNI 5933 screw - M6 x12
Boccola copriforo 080204 x perno riferimento / Hole plug 080204 for reference pivot
Flangia fissaggio mecc. VERT-MOVE / Fastening flange for VERT-MOVE Mechanism
Vite PAN 4 x 18 TSP / Screw PAN 4 x 18 TSP
Chiave esagonale 4 / Hexagonal spanner 4

1
2
3
4
5
6
7

8
6
2
2
2
2
1



27

TESTA VITE DI RIFERIMENTO GUIDA MECCANISMO VERT-MOVE
Head of the reference screw VERT-MOVE mechanism guide

3

4

POSIZIONARE LA TESTA DELLA VITE DI RIFERIMENTO DELLA GUIDA NELL'APPOSITA ASOLA SUL FIANCO
Position the head of the guide reference screw in the special hole on the side 



2

3

7

FAR SCORRERE LA GUIDA SINO ALLA POSIZIONE INDICATA IN DETTAGLIO
Run the guide up to the position shown in the figure

5

6

AVVITARE COMPLETAMENTE I PARTICOLARI 2

AVVITARE PARZIALMENTE IL PARTICOLARE 3
RIPETERE LE OPERAZIONI DAL PUNTO N° 1 AL PUNTO N° 6 SUL FIANCO OPPOSTO
APPLICANDO LA GUIDA Sx MECCANISMO VERT-MOVE

2Tighten the screws on the details         firmly.

3Tighten the screws on the details        partially.

Repeat the operations from point no. 1 to point no. 6 on the opposite side
and mount the left guide of the vert-move mechanism.



CODICE / code: 304551000
CONF. FISSAGGIO BARRA COLLEGAMENTO / connecting bar fastening kit VERT-MOVE

1

2

BARRA COLLEGAMENTO / Connecting bar  VERT-MOVE 

BARRA COLLEGAMENTO / Connecting bar  VERT-MOVE 

7

8

N. Articolo
Item No.

Descrizione / Description Quantità
Amount

 
 

Vite UNI 5931 - M5x25 / UNI 5931 Screw - M5x25
Dado UNI 7473 - M5 / Nut UNI 7473 - M5

1
2

2
2



1

2

IMPORTANTE / BEWARE
AL FINE DI NON COMPROMETTERE IL FUNZIONAMENTO DEL MECCANISMO VERT-MOVE

E' NECESSARIO MONTARE L'ANTA SUL MOBILE PRIMA DI PROVARE IL MOVIMENTO
To avoid jeopardising the fuctioning of the vert-move mechanism

assemble the door to the furniture unit before testing the movement

9

10

POSIZIONARE LA BARRA COLLEGAMENTO VERT-MOVE ALL'INTERNO DELLA FORCELLACOME INDICATO
IN DETTAGLIO / Position the vert-move connecting bar inside the fork as shownin the figure

AVVITARE I PARTICOLARI                    COME IN DETTAGLIO / Tighten the screws on the details1  - 2 1  - 2

RIPETERE L'OPERAZIONE SUL LATO OPPOSTO / Repeat the same operation on the opposite side 



2

1

3

INSERIRE IL PARTICOLARE        IN TUTTI I FORI SULL'ANTA 1
Insert the detail        into all holes on the door1

1

1

11

12

N. Articolo
Item No.

Descrizione / Description Quantità
Amount

 Bussola 310/A M4 x 10 s.i. / Bush 310/A M4 x 10 s.i.
Vite UNI ISO 7380 - M4 x 8 / UNI ISO 7380 Screw - M4 x 8
Chiave esagonale 2,5 / Hexagonal spanner 2,5

1
2
3

12
12
1

CODICE / code: 304552000
CONF. FISSAGGIO ANTA / door fastening kit VERT-MOVE



MAX. 7
mm

2

2

AVVITARE PARZIALMENTE IL PARTICOLARE         SUI 4 FORI SUPERIORI DELL'ANTA COME IN DETTAGLIO 2
Partially tighten the detail        into the 4 upper holes of the door as shown in the figure2

MAX. 7mm

13

14

APPOGGIARE L'ANTA ALLE GUIDE E FARLA SCORRERE FACENDO IN MODO CHE LE VITI ALLOGGINO
ALL'INTERNO DELLE ASOLE SULLE GUIDE. POSIZIONATA L'ANTA PROCEDERE CON IL SERRAGGIO DELLE VITI.
Lean the door against the guides and make it slide so that the screws get into the holes on the guides. 
Position the door and than tighten the screws firmly.



95
 +

 S

Y
S

S

2

2

2

3

MAX. 3°

REGOLAZIONE ANTA MECCANISMO VERT-MOVE
VERT-MOVE mechanism door adjustment

339,5

Min. 100

1) ALLENTARE I PARTICOLARI 2  - RIPETERE L'OPERAZIONE SUL LATO OPPOSTO DEL PENSILE
 
2) AVVITARE IL PARTICOLARE 3  FINO AD OTTENERE L'INCLINAZIONE DESIDERATA - RIPETERE L'OPERAZIONE SUL LATO OPPOSTO DEL PENSILE

3) CHIUDERE L'ANTA PER VERIFICARNE L'ALLINEAMENTO CON IL FIANCO DEL MOBILE

4) RIAPRIRE L'ANTA E PROCEDERE CON IL SERRAGGIO DEI PARTICOLARI 2   

1) Undo the details         - repeat the same operation on the opposite side 2

2) Tighten the detail        until you reach the wished inclination - repeat the same operation on the opposite side3

3) Close the door to to check alignment with the side panel

4) Reopen the door and tighten details       firmly2


